
5 libxzl mixgap zepexzt
:1 dl`y •

ztqed ici lr HPC-n lawznd HPC ′ aiygz xicbp ,`nbecl .oekp .1
zveawy gikedl xzep .¬¬A → A :zeneqw`d zveawl ztqep dnikq

.HPC ly mihtynd zveawl deey HPC ′ ly mihtynd
.d`ln dgked zzl yi la` ,mcewd sirqdn `nbeca ynzydl ozip .oekp .2
A idi .zegiki qgi eze` mr miaiygz ipy S1, S2 eidi :z`f gikep .oekp .3
ly htyn mb A okle `S2 A ,`S1=`S2-y oeeikn .`S1 A f` .S1 ly htyn

.jetdd oeeika l"pk .S2

.{a, b} lrn zefexgn - mdize`gqepy miaiygz ipy xicbp .oekp `l .4
. b
bbb -e

a
ab :wqid illk ,{a} - zeneiqw`d zveaw :S1 aiygz

. a
ab :cigi wqid llk ,{a} - zeneiqw`d zveaw :S2 aiygz

,(?migiken ji`) zeey l"pd miaiygzd ly mihtynd zeveawy ze`xl lw
.b6`S2bbb ,b `S1 bbb la`

:3 dl`y •
lynl .dycgd dwihnpqd xear miiwzn `l zeze`pd htyn

xgap :ef dwihpnq zgz dibelehe`h dpi` ((A → B) → (A → ¬B) → ¬A)
.v(A) = f lynl

:4 dl`y •
zeneiqw`d lky wecal witqn ,MP `ed zkxrna cigid wqidd llky oeeikn
.(wfgd) zetwzd htyn raep ,zetwz xnyn MP-y oeeikn .zeibelehe`h od

.xzei zehxetn zegked oaenk zeyexc

1


